AN i [TV BN X3 == > . =1 O N -
STHNSSEE EREEMARREHE T # F2RMFrENFEREHEESE ( A7) xvvTRBE(SPI)I)—X )
[ Al i 2 7 L D] R E
7 5 2 a A B C 3m
sengsn B 330 200 0 | 330 JRA 0
) 11 49 78 204 7+ 63
L—2z 7 RB 4 4] 8 RB 5 # 4 RC18#4] 8 RC 14#] 1 RC 154 2 RC 164 12 R C#& |11 R R 149 R 2|6 R 24b) [ 5 R 3 4
o 1600m | 1400m 1400m | 1400m 800m | 1400m | 1400m 1900m 1600m | 1400m | 18600m | 1400m
BB R ESKRE
450 450 ® 400 | 400 400 400 |c 420 5 1,100 B 700 |J 700 |z 550 450
4 158 158 140 140 140 140 147 385 245 245 193 158 188 10,914 ,000M
90 90 2 80 L 80 80 80 & 84 220 140 |R 140 110 90
B 45 45 40 " 40 40 40 42 110 70 70 55 45 288 44,064 ,000M
22 22 = 20 20 20 20 21 55 35 A 35 27 22
- L + 3EE 9,775 ,000M
26 ( 765 ) ( 765 ) 75(eao M ¢ 680 ( 680 ) ( 680 ) 714 ) ( 1,870 ) |=& (1190 )| (119 ) 935 ( 765 )
A 3
N L = % % . % % & Bt 64,753 ,000M
i =] &) &5 #
3 » ik Al Al Bl =
7 5 (/)
(%) 5 ~ s rll PN =
=] » & Z i +—F . B B et S PR B R AR
& -
3 i 188 | 136 ®|| 12 R
2R i & SumRE i @
B B
b = . . * al e " 28 B 146 8| 12 R
H i
— — > . > > | SHE | 130 B 12 R
F15—
® ® D) @ ® @ ® ® ®o @ ® & B | 412 W|36 R
M 3l .
-2 11 R 10 RA 2 9 RA 3 8 RA 4 ## 6 RB 6 #1 5 RB 7 #H 12R C# (3 RC 7 # 2 R 7 RC 9 4 RC 104 1 RC 12 #f
o 2500m 1800m | 1600m 1400m | 1600m | 1400m 1400m | 1600m | 1400m | 1600m | 1400m | 1400m
= 20,000 Mm o50 | s0 |z 700 | A 450 | & 450 c 450 | A 400 400 |> 500 |E 420 400 o mms
4 s 7,000 333 280 245 |y 158 158 158 g 140 140 175 147 140 R AR AN
32 4,000 = 190 |1 160 140 = 90 90 90 - 80 80 100 84 80 x 367 G
A m % 2,000 95 80 70 ES 45 ) 45 #® 45 40 40 - 50 42 40 - =
P 1,000 = 47 ] 40 = 35 i 22 22 22 * 20 20 25 - 21 20 AR 27
-~ ﬁ AR
Elal * ( 34,000 ) (1615 )|+ ( 1,360 ) (1190 )| ¢ 765 )| L ( 765 ) Y (765 )| g ( 680 ( 680 ) ( 850 ) ( 714 ) ( 680 ) - P
5 — . 88
% % |y = % |Y 2 | % Lo % -
2 B J) & ( sSPI ) # L 103 < n = JR A 7 BB
* Al 1y Al Al . 2 S A B =
% & & 412 R
x| =+ £ [+ mumk £ s 4 - P N %= ((=)] (R)
Y = 3 "}
() * 7 1
. Z ’ ¥ " " c B ) &
£ R : 7 i £ © A : I+ 1>
3 " g | |°
LK n & A & ® e " - U T \
B |
= topE < > < > E <«——»C 8 #f ‘0 1 #He—t—p
FA5—
“lo—oo| ®| @ | @ | ® ® ® ®
L—3x 11 RB 1 8 RB 2 6 RB 3 #§ 12 R c# |10 R c# |9 rRc 1 7 RC 2 415 RC 3 # 4 RC 4 3 RC 5 # 2 RC 6 1R 44
o 1400m | 1600m | 1400m 1400m 1400m | 1400m | 1600m | 1400m | 1400m | 1400m | 1400m 1400m
# 700 |w 600 |a 450 - 450 - 450 A 600 |E 450 |%H 400 |+ 400 |[Z= 400 |2 400 3 450
4 245 210 |- 158 158 158 210 158 140 |y 140 140 g 140 158
140 120 |7 90 2 90 1 90 120 90 80 . 80 & 80 % 80 90
B 70 60 ® 45 = 45 = 45 e 60 45 40 i 40 40 - 40 & 45
A 35 = 30 i 22 22 22 30 22 20 Ea 20 x 20 |% 20 22
n 2
% 28 ( 1,190 ) (1020 )]z ¢ 765 ) 7 ( 765 ) v ( 765 ) ( 1,020 ) ( 765 )| % ( 680 )|, ( 680 )|, ( 680 ) o ( 680 ) ( 765 )
~ <
% % |F " ] a = ®  u % Y % g *
3 B # 7 » s = TN 7 &
8 2 | o *h ~ ik 3l = 5 M "
(&) ) = n o “N : 5 B s
F L ERFHRE , ERFHRE L} 8 w
=] % % (] S5 B = = B & » ® m
% . y & % @ 1% E
= 7 e EER . £ = R = B - m
£R Al Al = H B = B B | | 7 H B = - & B |
;ﬁ
d <> D <> < — —— —
F45—
i D) D) ® ® ® ) ® @

X1 KEIOMVRRER AR EEED

REARET I BEEEZAMBERNKEXERNRBREITT

17

X2 KHIDOMERER, (24 BABEEREREARET MM ABGEOREREREBRERIDRIEBEERARHEITY,
X3 SHIDMLV=ERER. ABREEEREAERET SINAREEBISEXNRHEEITT .
X4 OHIDMWV=ERERX. REROEARNEHRETYT

X5 HERRAREEDIBAHIELABYET,
X6 HEREDNRR. BHEDIRFZEELTRET S ENHYFET,

DHEFI2BEITHREEFELTVES,




